
　 y は  x に反比例し、

 のとき  でx = 2 y = −9

ある。

22

　 y は  x に反比例し、

 のとき  であx = 3 y = 4

る。

21

　y は x に比例し、  x = 3

のとき  であるy = −1212
20

　y は x に比例し、  x = 2

のとき  であるy = 6
19

5x5x + 2 = 9x9x − 618

9x9x + 2 = 4x4x + 171717

4 : x = 6 : 516

x : 2 = 6 : 415

5(2x2x − 5) − 3(4x4x − 3)14
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−
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4
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−
3
4

+
2
5

5

(−0.8) % 0.34

−8 % 33

−1313 − 82

−3 + 71

no.1

　 y は  x に反比例し、

 のとき  でx = −3 y = 3

ある。

22

　 y は  x に反比例し、

 のとき  であx = 4 y = 6

る。

21

　 y は  x に 比例し 、

 のとき  でx = −2 y = 1010

ある

20

　y は x に比例し、  x = 4

のとき  であるy = 8
19

4x4x − 1111 = 10x10x10x + 718

8x8x − 2 = 5x5x + 161617

6 : x = 8 : 101016

x : 2 = 1515 : 515

4(2x2x − 3) − 3(4x4x − 5)14

5(2x2x − 1) + 2(3x3x − 2)13

3x3x − 1
8
% 242412

(25x25x25x − 1010) + (−5)11

6(4x4x − 5)10

−24x24x24x + 69

−6x6x % 78

3x3x − 5 − 9x9x + 77
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−
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5

(−2.4) + 0.44

(−3636) + (−6)3

−6 − 72

5 − 91

no.2

　 y は  x に反比例し、
 のとき  でx = −2 y = −6

ある。

22

　 y は  x に反比例し、
 のとき  であx = 3 y = 5

る。

21

　 y は  x に 比例 し、
 のとき  でx = −4 y = −8

ある

20

　y は x に比例し、  x = 3

のとき  であるy = 1515
19

x + 4 = 4x4x − 171718

7x7x + 3 = 3x3x − 917

6 : x = 9 : 416

x : 1212 = 2 : 815

5(2x2x − 3) − 4(3x3x − 1)14

3(7x7x − 2) + 2(9x9x − 8)13

−1212 %
5x5x − 1

3
12

(42x42x42x + 2121) + 711

−4(7x7x − 2)10

(−45x45x45x) + (−9)9

(−8x8x) % (−4)8

12x12x12x − 6 − 8x8x − 57

3
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(−2.5) % (−0.4)4

−5 % 93

−9 − 52

−8 + 21

no.3
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